SHTEERRTIEHIEE
(ERR31FE4AKIRTE)
AR IE4 TEE | TEHR TEHE AR -85 E( T T ERS| HE
BELE BT E D IEA KT R ERMIE TS SN 258 |BEI A=500m2 e % 4K
BELE BT E TP KRR BRI TS R 378 |7Aavys I A=30m2 e % 4K
BERE BTE IHE M SR E R TS ] 248 |SEI A=160m2 B 4% 48
HEKT L=5m
BRE |MERERERMETE 753 37 A ?ZE”*I V=4m3 B £ 4K
HET A=130m2
HEITER L=167m
B |EDER)IESEERERFTSE &% 74 B ?ZE”*I L=217m e 4 4R
£ET  A=500m2
. . w HEITER L=88.6m
pag |JLEORROTHMERE | g | 0p [EETHT 10z 5 & 48
SEE JavSFETLT A=300m2
E7Q EL Y b ol EE??EE I—:70m
pgi |SHERANRRIROES) g | 4R |gET Lsom % 45
JOvIEI A=74m2
RS R BEHRE BRRETE KAl | 27 R BT, A d0m2 5 % 45
&4 HE4E HE??EE L=19.7m
pzen IRSIGIREARERTE | 5 | -8 |[@EXERT N6k 5 & 48
= {Ji BEIEIRT N=1254K
KT L=47m
BELIENAR | NS AEEHLIE R 358  |EEEBHLEMRERE T L=83m e 4 4R
rMLEREBETI 1.0z
Vot AL Sk e e A e 4 < 5T A=100m2
s2ips gﬁjt/ﬁﬁﬂiiEWfﬁﬁﬂgfﬁﬁ?#I B 2B |BIBT A=5m2 = 2 58
FHEEM T L=30m




71:11'7&1 A=18m2

BRE (EAMESHERMIETE £ bR 258 |BEI A=10m2 % 5H
PHEEMT L=12m
BEE [MEMEEETRERERTE | &R | orA [TAT LM % 55
FRAET A=220m2
REE O |FTELEMERBRERMIEISE Fi) 2578 |(BHEMI L=16m % 6H
BIEFR/T V=9m3
B B8 2 I R4t $RE R T | =3 178 |&%T A=60m2 % 6H
=2) = & 2z As’nﬁ I L 67m
EME [HTRODHHXEEHENIE |ITR-FFE| 28 AGHEEET L=38m % 6H
EMNE |HEREBHMEXHEKKRERISE R 248  [URAEL L=29m £ 4H
mii |FRUEUNEBEEAREER  um | v lummsT Lesm £ 47
EME |FRLFHMEAKBKHEISE Fr[m 248 |BAKBKELEIL L=23m £ 6H
g 44 = T gh ~ =, O IyJ_ ﬁﬁ;ﬂl L=84m
BMR (TRERREXENTE KR 3R |BKBEHRET L-8m % 67
_ S—
EEE §iﬁi@wﬁ%ﬁﬁm’ﬁ¥’a“ =T 7[R 398 |AsEHET L=418m £ 48
5 FE/I\FEHMX KRN ZHETL . UBEIET L=101m
}E**E% $ E]’JE 3’7'ﬁ Asﬁﬁ T L=80m % gﬁ
}E**E% BIEIEJ#UJ'%E#?@JZ%F?KE%E&E Bﬂ% 3’7‘ﬁ §E7EI“JOI L=89m % Qﬁ
EME [KALE-mEtbXEERKRIE| KAW 648 |[EERERI L=170m £ 48
EME [EHEAFRMRITRAKBXBRIE| £ 478 |UBRIDYa—LTI L=120m £ 9H
BUKHIE | AERMEREHTH k& | ayg |/W7RT LA00m % 68
EFEEIET  L=139m
It — 2
BKEE RIS S TS x& | syg |WEL_ AZ788m % 67

7’099 I L=16.2m
A=18.6m




